>
N & 0l & Av S Z M A
021 S = 18 AWE FLHEXD
SN FHEXND
HE: HAREY FUHY €2
Sl 4DMS FERY X4 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
FeEX I 4,244,072 4,377,228 £133,156
2 1,886, 157 1,891,153 £4,996
s 6,000 0 6,000
< 371,788 323,288 48,500
2 1,980, 127 2,162,787 ~182,660
WHRBY FoIme £ 2,477,428 2,645, 131 A167,703
= 545,792 550,788 A 4,996
s 6,000 0 6,000
< 204,242 155,742 48,500
2 1,721,394 1,938,601 ~217,207
4DNe YFey =4 732,700 594,700 138,000
2 1,400 1,400 0
= 153,920 105,420 48,500
= 567,380 477,880 89,500
SYBRA BITTHAAY 120,000 100,000 20,000
= 60,000 50,000 10,000
2 60,000 50,000 10,000
402 212X+ 01 & 120,000 100,000 20,000
= 60,000 50,000 10,000
2 60,000 50,000 10,000
02 QI2tR 2 AL S (01 & T2 ) 120,000 100,000 20,000
O slYst2A BIZTHAAY  20,000,000465 120,000 100,000 20,000
< 60,000 50,000 10,000
2 60,000 50,000 10,000
S0 HIENE YRIH AL 81,000 56,000 25,000
< 38,500 28,000 10,500
2 42,500 28,000 14,500
402 Q12HT 20| & 81,000 56,000 25,000
= 38,500 28,000 10,500
2 42,500 28,000 14,500
02 IR 2 A Z (01 & T2 ) 81,000 56,000 25,000
Os0E HFEHE ETH AL 77,000 56,000 21,000
= 38,500 28,000 10,500
2 38,500 28,000 10,500
02020 S50{Z HIENE BIZFHIAL F0fA
® (£ 150, 2 150) 4,000 0 4,000
FUEX BeRY 6,000 5,000 1,000
201 Yot 2 bl 6,000 5,000 1,000
01 AbR 22l gl 4,000 3,000 1,000
OALDEAH 4|2 T4 1,000 0 1,000
20218 BIHBUE TEANY 92,000 0 92,000
= 28,000 0 28,000
2 64,000 0 64,000
308 XHXI A S 0| & 92,000 0 92,000
= 28,000 0 28,000
2 64,000 0 64,000
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SN FHEXND
HE: HAREY FUHY €2
Sl 4DMS FERY X4 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
I e EC T 92,000 0 92,000
020218 PIZBHE PHAY 92,000 0 92,000
= 28,000 0 28,000
= 64,000 0 64,000
2150150} 46,220 56,220 A10,000
Has Asax 46,220 56,220 £10,000
201 Bt 22,120 30,620 8,500
01 AbR2elt] 5,880 9,380 3,500
OASHE 228 A2 2K 2,000 2,500 A500
OFet=E A0 B0tS HSHA 0 3,000 3,000
02 B2l 16,240 21,240 5,000
OASAMUHBAEES HZIAN L 2AYS 42
2 250,008 * 6021 15,000 20,000 5,000
202 01t 6,500 8,000 A1,500
01 =L 01 bl 6,500 8,000 A1,500
OAZAD 2 WHVH HXA 1,500 3,000 A1,500
FoOBY NHBY 2 940,750 1,290,972 £350,222
2 294,732 299,728 A4,996
= 26,062 26,062 0
2 619,956 965, 182 345,226
NHZEHel MAEAL 27,381 29,100 A1,719
207 @RI 27,381 29,100 ~1,719
NEEETT 15,381 7,100 A1,719
ONEIIZEN L 2IIIEE LEM B 15,381 17,100 A1,719
NNz Fa el 23,883 28,390 £4,507
201 YBt2 | 19,883 23,390 £3,507
01 AbR 22l 9,203 22,730 £3,507
OXI=ol 802 M3 0 3,000 3,000
ONXZEI2IS 2827Y L 58 2,493 3,000 A507
202 04t 4,000 5,000 A1,000
01 =LK ol bl 4,000 5,000 A1,000
osJae g% 0 1,000 A1,000
XU = THE AR AFES 507,880 846, 880 339,000
301 YA 461,000 800,000 339,000
12 JIE2 &2 461,000 800,000 £.339,000
ONHMEAMEY ZHZ X3 461,000 800,000 £.339,000
RETHEAAY EX 285,591 290,587 A4,996
2 285,591 290,587 £4,996
201 Yer2 | 285,591 290,587 £4,996
2 285,591 290,587 £4,996
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SN ZHEND
Hu: HARARE FREY ER
Sel s Rsape FEMS (el @ e)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
= 75660 75,660 0
2 70,054 60,490 9,564
MWEZAXIIL FA & H 116,714 107, 150 9,564
= 46,660 46,660 0
2 70,054 60,490 9,564
201 Yete | 76,705 65, 141 11,564
=2 31,098 31,008 0
2 45,607 34,043 11,564
01 At 22l 76,705 64,705 12,000
ONLBAND AE222 63,500 50,500 13,000
—7ADIE(FAE) 13,000 0 13,000
ONLRES 25448 300 1,300 A1,000
02 222 0 436 £436
ORSMAINHAD SHNBEX AYNE HME
oHYE YB(SII) 0 436 £436
202 01 7,509 9,509 £2,000
= 3,009 3,009 0
2 4,500 6,500 A2,000
01 =0l bl 7,509 9,509 £2,000
OZBAXI S8 HEXXA 2,000 4,000 A2,000
HHSYAYH (FLEXD) 54,640 56,640 £2,000
= 54,640 56,640 £2,000
FHEXD I =AL 54,640 56,640 £2,000
202 01 25,000 27,000 £2,000
TENET 25,000 27,000 £2,000
OZ o4 0f &t 30,400 32,400 A2,000
WEES(FLUEN D) 36,547 0 36,547
SHXE 36,547 0 36,547
2x3 ua 36,547 0 36,547
802 Bt& 27| Et 36,547 0 36,547
01 2R x36tE3 32,510 0 32,510
020208 SO0{EFESINEAY HAOIR BHt 14 0 14
020208 FHSUHAIY FNEEZ &4 Y 0f
Xt ot 32,256 0 32,256
020208 KEMZAAY 2DREZ FL0I X
B 240 0 240
02 A - CHIBEZ a3 4,037 0 4,037
020208 SO{EFSNWEAY THI FHAOIX g
= 4 0 4
020208 FHZOAY SHEEZ Y L 0f
Xt ot 4,033 0 4,033
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